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PART-A [Marks : 20]
(Tve-27)
Answer all questions (50 words each).
All questions carry equal marks.
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PART-B [Marks : 50]
(Eve-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.
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PART-C [Marks : 30]
(Evs-9)
Answer any two questions (300 words each).
All questions carry equal marks.
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5. @

(i)

(i)

PART-A
(TUe-31)

UNIT-I

(FFTE-1)
What is ITR-1 and when it is used ?
ITR-1 (Wew) ®n & IR s w9 w@m &
v & ?
When Permanent Account Number (PAN) is required
w/s (139A) under Income Tax Act ?
St SuPEE FOUW (139A) F S e
T wen ¥ W sEeEEd €2

UNIT-1I

(gTE-10)

Compute the amount of tax to be deducted at source

during the financial year 2017-18 in the following

payments :

(a) Interest on debentures issued By Co-operative
Society ¥ 6,000.

(b) Compensation payable by the Govt. on
compulsory acquisition of agriculture land
T 80,000.
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(30) weart Wfifs gm frifie wo-o5f W =
T 6,000. |
(@) FW 9 % sfEd sfmen w g@r AR
¥ &fmf 2 80,000.
(iv) What is Dayabhag School of Law. In which states
of India is applicable.
T TR R R ? 9§ T wem wh
SAR R A
UNIT-III

(FTE-I10)

(V) When deduction of income from House Property
and Interest on securities allowed to Co-operative
Society w/s 80 P.

msopémﬁammmmaﬁ
BRI B R .
wNA firert & 2

(vi)  What do you mean by Consumer Co-operative
Society ?

mmmmawmi?
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UNIT-1V
F=TE-1V)

(vii) What is maximum amount of deduction u/s 80 C,
80 CCC and 80 CCD(1) ?

yrT 80 C, 80 CCC wd 80 CCD(1) F
R T e i w7 R

(viii) Name the payment of five items other than life
insurance premium and provident fund for which
deduction u/s 80 C is allowed.

g7 80 C ® orwia T¥ ufE PR H AW ;AR
ot e v e 3k wRRdve woe afEfem
o B, W o fred R

UNIT-V
FEE-V)

(ix) Write name of assets which are not treated assets
under the head Income from Capital Gain.

Hh ww Wi B e T e & W
Tz fo wwft € A ¥

(x) Write four transactions which are not considered
as transfer.
W el 3 WR SEe g, fEE e
T " oW R
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PART-B
(Tve-7)

UNIT-I

(FaTE-1)
What is meant by "Return of Income" ? Discuss the
provisions of the Indian Income Tax Act in regards to the

"Return of Income".
Vg & TR ¥ Fn wEd 27 WRAE ST

sfufem § o ® TN ¥ TERE TEUE H A0
Hirw|
OR
()
What do you mean by income escaping assessment.
Under what circumstances can it be made ?

e oTaER Pk ¥ o w WHEa §2 | A
qﬁfmﬂﬂ‘fﬁ‘mﬁrm%?

UNIT-II
FFE-1D

State the provisions of Income Tax Act relating to the
deduction of tax at source in the following cases :

(i)  Payment to contractors and sub-contractors.

(i) Payment to non-resident sportsmen and sports
associations.
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(iii) Payment of Rent.

(iv) Payment of Insurance Commission.
f= zmell g =W W W T B Ty
A AufEm F wENE W oav #ifmw .
@ 3R TN IV-IPER F} g
@) et feordt @ @ T W gwEmE
(i) AR =1 gmEm|
iv) = mﬁm F JTEE
OR ’
(remE)

From the following information, compute the amount
of interest payable by Shri Mangal Deo u/s 234 C for

~ deferment of payment of advance tax :

()  Deposited ¥ 22,000 as I instalment of advance tax.
on 15th September, 2017, _ '

(i)  Deposited ¥ 23,000 as II instalment of advance tax
on 15th December, 2017. s

(iii) Deposited T 35,000 as III instalment of advance tax
on 15th March, 2018,

Total advance tax payable during the year is ¥ 80,000.
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fe g | At v dm gR afm W TR $
% fQ umr 234 C # vl 3 = FH TR FAf

() 15 faamw’, 2017 T 22,000 AWM T I I

fem s =N

(@) 15 RE=R, 2017 ' T 23,000 AW = F; 1
e s =

(iii) 15 =€, 2018 F T 35,000 AW F F [0 fr
ST #h

T ¥ w@ W afim W T 80,000 B

UNIT-III
(FTE-1I)
4.  Shani Deo Ltd. is a domestic company in which the public
are substantially interested. The following are the particulars
of its income in respect of the previous year 2016-17 :

(i)  Interest on Govt, securities T 1,25,000
(i) Income from business < 30,00,000
(iii) ~Short-term Capital gains - T 3,20,000
(iv) Long-term Capital gains < 30,000
(v)  Divident from an Indian Company < 25,000
(vi) Book Profit u/s 115-JB ¥ 1,05,00,000
(vii) Dividend from specified foreign

company < 10,000

Compute Company's Total Income and its net Tax Liability
for the A.Y. 2017-18.
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e fafies, wF we wer & e sem @ aRee
ficr #1 T 2016-17 ® WA A TR g w1 fEERo
e 2

() T R @ = T 1,25,000
(i) =EEE ¥ A ¥ 30,00,000
(i) TR Rt e T 3,20,000
(v) dewEE It @ T 30,000
(v) T W A ¥ PR ww T 25,000

(vi) WM 115-JB % w®a g&& @w ¥ 1,05,00,000
(vip TF fafire fadeht =t @ @i ¥ 10,000
Fx fuftor =d 2017-18 # fow s o F;@ I
W W S FWAE ® A S

OR

(3oEm)

Discuss in brief the main deductions admissible to a Joint
Stock Company while computing its total income.

™ g N At e W g A ® MM
R T W IR AR U@ wARE W uew W
T
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UNIT-1IV

F=TE-1V)

5. Dr. Chhaya Gupta is a self-employed person and Super
Senior Citizen. Her business income is ¥ 9,00,000 and
other income is ¥ 2,00,000. She contributes T 10,000 per
month towards National Pension Scheme. Besides she
deposited T 20,000 in Public Provident Fund, ¥ 5,000 in
notified annuity plan of LIC. Compute Total income and
income tax liability of Dr. Chhaya Gupta for the
Assessment year 2017-18.

¥ T T w-frgw wfm € iR Wy F W@ ®
famh ofs s TmRE € IR e R ¥ I
Z9,00,000 ¥ 3 @ T 2,00,000 ¥ T T 10,000
SR TS dTR Ao § ol wmE # owe
st 39 T 20,000 WEwrm wfrs e 9 @
25000 wdm Waw dm frm @ ewgfeq i
mﬁmmnmﬁmzon—ls%mz{
T T W HA A IR T AR F QS H
AT IS
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OR
(&77an)

Taxable Income of Mrs. Sandhya by normal rates of
income tax is T 2,10,000, long-ten_n capital gain (with
indexing benefits) ¥ 2,00,000 and short-term capital gain
taxable u/s ITI A is ¥ 4,00,000 (S.T.T. on such sale is paid).
Compute taxpayable by Mrs. Sandhya.

ATl g F oW R ¥ wEE 9m T 2,10,000
e fft W (gEEE W @ W g
¥2,00,000 7o WrefE FEA ® SR W seqwEiT Toft
a9 X 4,00,000 (39 W yfayfd =EErR = @m e
At "o gR W amER UM §W s

UNIT-V

FFE-V)

Describe the provisions of tax planning regarding
Bonus shares and Buy back of Shares.

I SN F P @ wR ogw e ® T W
% g § W PR et wEwE o aR
OR
(3am)
Interpret the dividend policy in view of tax planning.

TR gt @ awim B # REe St
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PART-C
(Tvs-w)
UNIT-I

FHE-I)

Discuss the important provisions of the Income Tax with
regards to penalties.

mémﬁmmﬁm%mm
F O Hifw

UNIT-II

(FFE-ID)

A, B and C are partners in a firm. The Profit and Loss
Account of the firm for the year ended 31st March, 2017

is as under :

T WH A A, B R C wmrr #1031 W, 2017 =t
mﬂ#aﬁa&%ﬁqwﬁmmmm
frer & .

4 s
Interest on Capital @ 20% Gross Profit (Loss)  3,09,000
A 8,000 Net Loss to Partners
B 7,000 A 25,000
& 9,000 B 25,000
e 25,000
Salary to Partners
A 1,20,000
B 1,20,000
C 1,20,000
3,84,000 3,84,000
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90

You as tax advisor compute the book profit and total

income of the firm for the assessment year 2017-18.

A TF T GARHER & w9 § F Fuior a8 2017-18
® fu q@E @M WM FH W OFA A FT IO
Hifo|

UNIT-III
(¥eRTé-1I)

From the following figures relating to the details of income
of a Rural Co-operative Society, you are required to find
out its tax liability for the assessment year 2017-18.

3
() Intereston Unlisted Securities (Gross) 3,000
(i) Rent from House Property 6,000
(iti) Income from Business 7,500
(iv) Winning from M.P. State Lottery 2,500
(v)  Long-term Capital Gain 1,000

(vi) Dividend from other Co-operative Society 800
State the difference in tax liability, if the society is a Urban

Consumers Co-operative Society.
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10.

& T wEET Gt w1 oo ¥ wetem fre e
¥ g F PR ad 2017-18 ® faU e W
g # TR wE §

4
G ogfea wfr @ = 3,000
(i) wEW T ¥ R 6,000
(i) =R ¥ A 7,500

Gv) TR T TER F} Al ¥ o™ 2,500
(v) e ot ww 1,000
(vi) o= wEeW wfufy ¥ W 800
¢ g fF A W wed Suhem wewd S
TR @ TR W oM A TN SRR E 2

UNIT-1IV
@FE-IV)

Explain clearly the provisions of Section 115 C to 115 I
of Income Tax Act, 1961 relating to Non-Resident Indian

assessees.

IE SfufEE 1961 ® y™ 115C ¥ 1151¥ R
mmmmﬁﬁmmuﬁfﬁm
®] ¥ [EEEC
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UNIT-V
FFTE-V)
11. Chandra Associates Company Ltd. is interested in

expansion of its business. Company has three alternatives
as follows :

T TEEE F fafe o = W
N AR ¥, FEN B UW SRR A9 Awew & .

Particulars Alternative | Alternative Alternative

I® ne® I )

Equity Share Capital

(In T 10 shares) 10,00,000 4,00,000 2,00,000
Debentures (Rate
Interest 10%) — 4,00,000 4,00,000

Loan from Financial
Institutions (Rate !
of Interest 12%) —_ 2,00,000 4,00,000

Normal rate of return on investment is 18% company has
been declaring 12% dividend from last three years. Which
of the above alternatives will be recommended if rate of
income tax is 33.063% with surcharge. Rate of tax on
dividend is 20.35765%. If not surcharged rate of tax on
company 30.9%.

ﬁWM‘REWW!Mﬂ#TRISﬂWﬁ?IWﬂT
™ @ W ¥ 12 shm @i ofE W @ ) e
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IRF fEed § ¥ FR-Q fAFe oW A W
@ ¥ AR FEAR W AuYR o @ o I8 W
¥ amER # W 33.063 WRWE @ A FEA W
AfUNR 7 o ¥ FEE W TR W 30.9 Ffow™
B TR | ANYR T@ WWR I dfEfe w@ gU
AT A F@ W F F K 2035765 Fww
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